@ é"r/"‘f‘(—l:'-«j 0’—’(‘, ‘7_ w;H ﬁefL’

4 90,000 bawts o Lirs Fgl\
/ - per  §F22 4 U i
5,@-‘!" ﬁ?O/ OO0, "Tlhe_ ﬂ"z_oo oc o

A
Ce cotag.o /c'&._.u\ by /, F»('bv‘;Je__

% 4 {800/ o0 g ,J%,KL,’OWR_{ ’Lq% <) :
- 4—0 T + J re,a;&[\/ o S
VN Per;aMt haLFZJ% as g

i T LR A TSR

T T Dedae e
o@ 4—*L€, amamé‘ ew(\ Faﬁlwer
ja’l"& @Q a (‘/c—c.ome_, {;QL;/IPVL‘7
;‘ |u\\/01\/&5 4’&_&, JW:::—.:&.JF?

nre” o &[22 ' 4o

%ﬁg arql-wg are_ % a‘[x/&uA

-e—ue...c,\_( 7 \Qe){-uue,ew\ 11/‘\_2/1—«\ - T-L\,,rc)
resnlts e T L o bases
o {180,000 4 U oy «
P A Al #!zo/ doo.

’I'f,\e, o H oc,aLth/\ & 2 Qb“"
go/sﬁ Lo jc/qo vnt” pass
A wsyeds tarr ol @A é"?,ou{ \L‘o Ae

4“0“\/@?( /rqe—-efc/ox‘e,-aj. 510‘1 ("efwfrﬁs/



monoy otlae Hoys, Had e
Moo Lave Teibodacdrd

€ oo a, e e,QCe.ae/lL'tr T lee Q&-ezés

C;Lﬁl—e_ VLgxcL‘{' 'ﬂb(/\.& F‘J’GL\ ij‘e@m@;—q{—
w\e/é‘/‘L‘é —J’(Iw_, AL:’) S -!—e—s’L A
S U Sl
/ _ : \LZ»& &VZZOLMAI'S Pé
re,c,e,)v&p( LLT %—&. quum e
el el Mem 2Tl

‘J"&-X duar arnc €, _7—’ Leex

o be lLeme @« dL o luiin.

O)QM—"{L z;\Lg‘,/—e_ ‘,10' 7 Foss
iy b s 3“"‘}?
:f 2 &TQFC— Fo!{j{j"g@ [ ‘LLV,' //
2&-&99“’% = w*‘\‘;’\‘z‘&"\#‘ PP -
H\rmzj{\a--—»%' ‘xiu«,e, \L-\w,e_ R ZWVZ/W
<3—u(7 [ — Dec 31)' Té\r\'% St
ey e
%&'W’ 3 et 2 a .

I\J\ < 40:1\-:3—2_ k&{—-x?/e_f_/\
£ L r\ (N H%e/ : o 1\‘/"\ cla .¢>I
AT S N, o



C/(’\“"é N M/L’le\. A% WLL-&
sofso splb « HHa éO/‘{O
( Eooeacle [ D ot
A~ e,\/e/v\( ole.v oﬂ'; V”Z\e

em%@w Hoo \ dadiitios
of- 55“055 SO <4,9 ¢, Mowvuﬁ
LG = oC)' ‘?/"é\_a é u«ou.% J""‘l‘p
Tlee (it Vo oL

e qu Cooder oo fo/%
c,F L’) wobu/J ?/&ZJ %33"60@

LN 9gr=s s e con & e,q,.:,L\ (‘E!”{CJOOOJ
- 2, Hen é‘o/c,—o) S gs50 oo

NN JQ&ZKLLM A C#z.vooao
-2, ﬂb{\»@—\ 9_0/523) % é,e.c.ama/{
(A,a{Q— oQ e o[ea/u,c//—\’\

= Fosg ,..www.e__ (MJ&/" ‘%&Q
co/Ho <P :L> Wam/o/( e.,/a/
?"12’ oo jr 0ee | ucome wl'CD

ﬁf‘fo 000—-2- 4’(«»\ éOf) - _#QS/OOO
Gees D es e -l—a U (E)L{OOQCD-—- /
HO)/> 4 ﬁéo ooo e/aa}u/qu) fo
T (3200 000 +2 pheo 40/> o ¢4{ooao
- J C‘*QOOODQHZ VLZL,&,\ Z{O/)
7_1\6_. w«r S UV COAn C A
Le_, G e a L~ -&KZ«I‘L,’YL 'S, }/
M/L,‘J\ eL\oqu Vbzue. L‘L/Mc_ﬂ
eLe—P«J’ 4,% a// ‘J’LLM&

Z
-




6\/%!’5 L\wua., c:néc.o.r-ejf T[A.ere__
(PPN L, s . o ob er 2> Lﬁ
- Lo_ve, Vusej -MM—D L\ (a:;;aw\
o é”—féf ol rszf— af’ §He 9 fa:uve_
ekl Trbadiens , olich T
-Ai‘{' cee. arabere«é [\ ) /

; gllo“i, le o WLL«_J' ‘J’{«e,
cecent— rmwl—e_ oy to | ‘,,jq[
‘?kL'wal” =~er. q)au/rw-%é{" QP@"M
e 4""7&\ au,c;a 0) ’LSZ\

~n b




Exam Number 135§

Question S

Exhibit 3

Assets Liabilities
Basis Value Basis Value
Coa e ﬂ) %Ii?@@@ %x:?o@@ Debt
Lol % 200, 000 % 200,000
Equity
T nﬂ_iﬂ.ooe &.m..u\\eoe
U 4 13,000 | 4e7 ooo
Total Assets 4440,000 | g4uo,000 | Total Liabilities |44Hp000 | § HHO 000




